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Question Answer Mark LO 


1. (e)  0 marks: Nothing worthy of any marks.  
 
1-3 marks: Answers provide a basic examination of the limitations of 
achieving social control in prisons. Answers convey meaning but lack 
detail. Little or no use of specialist vocabulary. 
 
4-5 marks: Answers provide some examination of the limitations of 
achieving social control in prisons. Answers communicate meaning 
with some use of specialist vocabulary. 
 
6-7 marks: Answers discuss in detail an examination of the 
limitations of achieving social control in prisons. Answers are well 
structured and clearly expressed. Specialist terms are used with ease 
and accuracy. 
 
Likely answers may include: 
 


 Overcrowding in prisons.  


 Reduced number of prison officers.  


 Finances.  


 Industrial action by prison officers.  


 Attacks on prison officers and rioting in prison -1990 
Strangeway riots or at HMP Oakwood in 2014. 


 Rioting in HMP Birmingham (and others) in 2016. 


 Significant rise in prison disturbances and callouts of the 
National Tactical Response group (prison's anti-riot squad).  


 Use of prohibited drugs and their availability within prisons.  


 Record number of deaths within prisons.  


 Use of information and statistics from the Prison Reform Trust 
and the Bromley Briefings Prison Fact File.  


 
Credit any other relevant answer. 


7 LO3 


   Total for Question 1 25  


 
 
  
















Sticky Note

A detailed explanation of the limitations of achieving social control in prisons. includes statistics and examples.
















Sticky Note

Terminology
Statistics



Sticky Note

Develops in to detail



Sticky Note

Lack of funding



Sticky Note

Leading to a detailed answer



Sticky Note

Evidence in prisons



Sticky Note

Limitations on release



Sticky Note

Further development



Sticky Note

A good variety of limitation appropriately developed to provide a detailed examination of the limitations of achieving social control in prisons. 



Sticky Note

Statistic



Sticky Note

Detail.
Relevant example.
















Sticky Note

Question down to prisons?



Sticky Note

Relevant points produce a basic examination of the limitations of achieving social control in prisons. 
The most credit worthy point is financial restraints which explains its consequence. 
The re-offending point lacks development. 
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Examiner
only


Answer all questions.


1.	 Gerry and Ben are brothers and are both employed within the criminal justice system. Gerry 
is a chief constable of police and Ben is a prison governor. The brothers meet every week and 
discuss problems within their roles. Ben is concerned about the high ratio of prisoners to staff as 
well as a lack of funding. Gerry is also concerned about funding and the demands made on the 
police service. Their aunt, Magda, is a High Court judge and believes that the system of social 
control needs many changes to make it more effective.
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only


	 (e)	 Examine the limitations of achieving social control in prisons.	 [7]
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Question Answer Mark LO 


2. (c)  0 marks: Nothing worthy of any marks. 
 
1-3 marks: Answers describe in basic detail how one model of criminal 
justice could apply to Colin’s case. Answers convey meaning but lack 
detail. Little or no use of specialist vocabulary. 
 
4-6 marks: Answers describe in detail how one model of criminal 
justice could apply to Colin’s case. Answers communicate meaning 
with some use of specialist vocabulary. 
 


 The most appropriate model for Colin’s case is the crime control 
model.  


 This involves the repression of crime being the most important 
function of criminal justice because order is a necessary 
condition for a free society. Colin’s claims about the police 
action would be relevant here.  


 Criminal justice should concentrate on promoting victims' rights 
rather than on protecting defendants' rights. This could account 
for the judge giving such a harsh sentence as, according to 
Colin, he is related to the victim.  


 The criminal justice process should operate like an assembly-
line conveyor belt, moving cases swiftly along toward their 
disposition. This could account for Colin’s claim that the police 
failed to consider other suspects.  


 If the police make an arrest and a prosecutor files criminal 
charges, the accused should be presumed guilty because the 
fact-finding of police and prosecutors is highly reliable. This 
could explain Colin’s claims about his case.  


 The due process model with links to Colin’s case.  
 


Credit any other relevant answer.  


6 LO1 
















Sticky Note

The answer describes in detail the crime control model. Good use of terminology such as zero tolerance and assembly line. Link to theory shows knowledge. Application to Colin's case which allows top mark band to be achieved. Further application would have allowed full marks to be achieved.  



Sticky Note

Link to theory



Sticky Note

Application to Colin
















Sticky Note

Appropriate detail on the model.



Sticky Note

Some detail in the description of the crime control model. Relevant terminology such as 'conservative', 'assembly line', 'automatically guilty'.
Application to Colin's case lacks detail for instance only applied to the jury's position and not to the judge. 
















Sticky Note

Application to Colin.



Sticky Note

Some relevant terminology, such as zero tolerance and rights realism allows four marks to be achieved. The crime control model is accurately described and there is an attempt at applying it to Colin's case. 
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Examiner


only
2.	 In 1967 homosexuality was decriminalised in England and Wales, and the age of consent for 


homosexuals was 21 years. The age of consent was later lowered to 18 years by the Criminal 
Justice and Public Order Act 1994 and finally to 16 years by the Sexual Offences (Amendment) 
Act 2000. Groups such as Stonewall and OutRage! campaigned for equal rights for same 
sex couples, and civil partnerships were permitted in 2004. Finally, the law allowed same sex 
marriage in 2014.
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	 (c)	 Describe how one model of criminal justice could apply to Colin’s case.	 [6]
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Question Answer Mark LO 


3. (e)  0 marks: Nothing worthy of any marks. 
 
1-3 marks: Answers discuss in basic detail, why individuals abide by 
the law. Answers convey meaning but lack detail. Little or no use of 
specialist vocabulary.  
 
4-6 marks: Answers discuss in some detail why individuals abide by 
the law. Answers communicate meaning with some use of specialist 
vocabulary. 
 
7-8 marks: Answers discuss in detail why individuals abide by the 
law Answers are well structured and clearly expressed. Specialist 
terms are used with ease and accuracy. 
 
Likely answers may include: 


 Internal forms of social control such as conscience, upbringing 
and family traditions may make individuals abide by the law.  


 Coercion is the use of force to achieve a desired end. It may 
be physical or non-violent. For example the police and prison 
services have the power to restrict liberty of person. The 
police have rights of arrest and detention mainly under the 
Police and Criminal Evidence Act 1984. Enforced detention is 
overseen by HM Prison Service.  


 Fear of punishment is inherent in deterrence where 
punishment is used as a threat to deter people from offending.  
The concept of deterrence has two key assumptions, 
individual deterrence and general deterrence. The courts will 
impose sentences to prevent people from committing further 
crimes. For example a suspended sentence or a conditional 
discharge.  


 External pressures persuade or compel members of society to 
conform to their rules. The most visible form of external social 
control is exercised by people and organisations specifically 
empowered to enforce conformity to society’s laws. 


 Control theory - Walter C. Reckless argued that a combination 
of internal psychological containments and external social 
containments prevents people from deviating from social 
norms. 


 Travis Hirschi stresses the importance of the individual’s bond 
to society in determining conforming behaviour. 


 The Police Service, the courts, the National Probation Service 
and the HM Prison Service are the most obvious agents of 
external social control. 


 The Ministry of Justice introduces sentencing policies to use 
coercion and the fear of punishment to control crime. For 
example mandatory minimums such as life for murder, 7 
years for 3rd drug offence and 3 years for 3rd burglary. 


 
Credit any other relevant aspects.  


8 LO2 


   Total for Question 3 25  


  
















Sticky Note

Both internal and external controls are included. 
Good use of terminology such as rational ideology, internalisation of society rules, traditions etc. 
Internal controls one is more detailed than external. 
















Sticky Note

Answer discusses in detail why individuals abide by the law. Both internal and external forms of control are included and developed. 
Good terminology. 



Sticky Note

Good terminology
















Sticky Note

Both internal and external forms of social control are considered in detail. 
Good terminology used.
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3.	 Within the criminal justice system there are a number of agencies. The Home Office is
	 responsible for the police service. The Ministry of Justice oversees the work of HM Courts 


and Tribunals Service and the HM Prison and Probation Service. There are also charities and 
pressure groups who try to achieve social control. The Prince’s Trust and the Howard League 
for Penal Reform are examples of organisations which contribute to social control. 
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	 (e)	 Discuss reasons why individuals abide by the law.	 [8]
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